60

SummerTest5

1 8+7= O
2 10- = O
3| 12-6= O
4 3+8+7= O
S| 6x10= O
6 40+ = 80 o
7 44-5= a
8 9x2= O
Q| 66-2-2= O
10| 4x5= O
" + 64 = 67 O
12| 60+20+ 10 = O
13 5+5= O
19 78+ 20= a




Summer Test 5 (continued)

15

/X3 =

16

/3 + 18 =

17

58 +

18

—-of 14 =

19

30=-10 =

20

55-36 =

21

- 0of 20 =

22

25 =5 =

23

34 —

= 69

24

61 +

=93

U000 000 jgjunu

25

> of 24 =

O

How well did you do?

Colour the numbers of the
questions you got correct.
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[Total marks /25}
1 4 16 | NN |12|14 (16|17 |24
213 719 20| 23
518 1110(15
: 13 19 22 25
Missing numbers 216 (N |[17]24
Fractions of amounts 18 | 21 25

61



